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# Each question carries two marks. Chief
\ vy
1. Some goods and services are given below.
A —Newspapers B - Healthcare
C -Clothing : D —Legal Advocacy
E —Education F - Vegetables
G - Social media H - Televisions
From the above, what is the option that contains only services?
(1) A,DCG (2) B,D,E, H (3 B,D,E, G
(4) Dt E! Gi H (S) D} Fa G| H (......)
2. Some inputs used for production are given below.
A —Land B - Competency
C - Staff D - Information
E —Knowledge F - Entrepreneurship
G —Raw materials H - Inventory
From the above, what is the option that contains only intangible inputs?
(1) A D,E,F @ B,D,EF 3) B, D, F H
(4 C EFG & CGEGH Eeied
3. A company's ability to form a joiot venture with a foreign party Tepresents a/an
(1) threat. (2) strength. (3) weakness.
(4) opportunity. (5) strength and a threat. )
4. What is the minimum number of shareholders required to form a Private Limited i
Sri Lanka, according to the Companies Act No. 07 of 20077 il Compsy B
(1) 1 e 2 3) 3
(4 7 ke : oenr)
5. A business strategy that a company uses to take control of the entire suppl
(1) forward integration. (2) horizontal integration (%J yvec:;mc:! ® ——
(4) backward integration. (5) conglomerates, integration-
(iso)
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6. The following table shows some slakeholdcrs and their interests in a business.

Stakeholders Interests
@.) Creditors A-- Employment generation
(ii) Shareholders B - Job Security
(iii) Government C - Financial stability
(iv) Consumers D - Returns
'(v) Employees E - Value

What is the option that cofrectly matches the interests according to the order of business
stakeholders given above?

(1) B,A,D,EC (2) B,D,A,E, C (3) C,E,A, D, B
4 C,D A EB (5) D,C, A, E, B T
7. The following table shows some government income sources and collecting authorities.
Income sources Authority

(i) Rates A= Department of Motor Traffic

‘(_i'l) Ia:iﬁs _ B - Department-of Inland Revenue

 (1i1) Advance Personal Income Tax (APIT) C - Departaient of Imm:grahon and Emigration

(iv) Emission Test Charges D - Local Authorities

(v) Visa fee | E- Sri Lanka Customs
What is the option that correctly matches the collecting authority according to the order of income
source?
(I) AD.CE,B @ AEB,D,C @) D.C,B,AE
(4'] D’ E:! B,'_-A, C (5) Es Da BQ A,C (....._..}

8. From the following, select the key entrepreneurial characteristic that an entrepreneur should possess

to convert environmental opportunities into reality.

(1) Leadership {(2) Tnnovation (3) Peérsistence

(4) Passion (5) Self-motivation o)
9. From the following, the funds collected by a unit trust is deployed in

(1) fixed assets of companies.

(2) credit facilities for companies.

(3) cumrent and savings accounts.

(4) investment portfoho

(5) financial institutions for a fixed interest rate. fiviiin) |
10. Following are some characteristics of enterprises.
A —Niche market focus B —Global operations
C —Market dominance D - Self-employment
E —Decentralised decision making F —Informal structure
G —Autonomy H - Limitedaccess to capital

From the above, what is the option that correctly contains characteristics of only Micro, Small
and Medium (MSM) enterprises? |
() A,C, D GH 2 A,D,E G H (3) B,C,E,F,H
49 B,D,F G, H 5) C,D,EFG (o)

11. Real Time Gross Settlement System (RTGSS) of the Central Bank of Sri Lanka is
(1) an off-line fund transfer system.
(2) an electronic fund setflement system.
(3) a cheque imaging and fruncation system.
(4_) a scripless securities setflement system.
(5) a scripless securities depository system. b

o
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12.. Indemnity principle of insurmnce will not be applicable for (3) fire insurance.
(1) building swance, (2) marine insurance. .,
(4) motor insurance, (5) Iife inmurance.
13. Which of the following is not wn atteibute of printed "“’dia?
(1) Bronder coverape (2) Delayed feedback
(3) Better visalization (4) Personal inferaction (OO
(5) Geopraphical scatiering

14,

15,

16‘

17,

18,

; - k to the
Which aspect of logistics Involves the process of moving goods from customer bac
seller for recycling purpose?

(1) Inbound

(2) Outbound (3) Distribution
(4) Reverse

(5) Third party friivnd

When the Sri Lankan rupee depreciates against the US Dollar, select the option that comectly
indicates the general effect 1o the import and export quantities of Sri Lanka.

Imports Exports
(1) | Increase Decreage
(2) | Increase Increase |
(3) | Decrease | Decrease
(4) | Decrease Increase
(5) | Increase No effect ;
The following table shows different types of agenis and their roles, :
Agents Roles
(i) Del credere agent A - Conneets buyer and seller
(i1) Auctioneer B - Buys or sells goods under one's own name
(iii) Broker C - Guarantees to pay for goods sold on credit
(iv) Commission Agent D - Arranges sales of goods to the highest bidder
(v) Factor E - Buys or sells on personal desire
What is the option that correctly matches

the roles according to the order of agents given
above?

(1) B,D,E C A () C,A, D, B, B 3) C,D, A E B

(4) D! C) At E’ B (5) D! c9 E! A? B ( )
What is the managerial sub role that focuses on constructing a positive image towards the organization?
(1) Monitor

(2) Spokesperson (3) Figurehead
(4) Disturbance handler

(5) Resource allocator

sosin)
Consider the following statements A and B,
Statement A : One of the main objectives of a business is to utilize resources in an efficient
manner,
Statement B: One of the main objectives of a business is

to maximize customer satisfaction
al any cost,
From the above two slatements,
(1) only A is correct,
(2) only B is corect.
(3) both A and B are incorrect,
(4) while both A and B are correct, A is eluborated through B.
(5) while both A and B are correct, A ig not ¢laborated through B,

. &
= M
e - 2
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19 Consider the Rallowing ohart, '
Stock Lovel
Unit )
o0

40

20

0

According to the nbove chart, what is the inventory quantity in units
the production of an organization if the ordered quantity has not been received on time?
() 20 (@ 30 (3 40 (4) 50 (5) 60 i)
20. Following are some of the parties who ure involved in a physical distribution channel,
A - Wholesaler
C - Retailer
E - Customer

The correct sequence of a physical distribution channel would be

() A=B=C—-DoE A A-B=D-C-—E
@3 B=A—-D—=C=E @ B-D—=A—C-—E
) C=A—=B-=D-E

» Time
that will assist (o continue

B - Fuctory
D - Agent

25. The following table shows some financial information of a business,

bicaid
21. Some goods are given below.
A - Fumiture B - Smart phone
C - Magazine D - Jewellery
E - Refrigerator F —Soft drinks
G - Bread H - Television
From the above, select the option that correctly includes only shopping goods,
(1) A,B,C G E 2 A,B,D,E, H ! 3 C DG HE
4 CEGHF (5 D,B F, G, H Gl
22. What is an example for an internal and direct source of funds of a business?
(1) Retained profits (2) Ordinary shares (3) Factoring
(4) Venture capital (5) Trade credits Esad
23. From the following, the type of the domestic debt that was recently restructured by the Government
of Sri Lanka is
(1) commercial papers. (2) debentures, (3) treasury bills.
(4) treasury bonds. (5) bank loans, Gien Y
24.] The process of locating, identifying and attracting suitable applicants for a job is called as
(1) selection, (2) planning.
(3) recruitment. (4) confirmation.
(5) retaining. (ooe0)

Description Jan Feb Mareh April
Opening Balance (Rs.) 10 000 . ?
Cash inflows (Rs.) 30000 | 40000 | 40000 | 50000
Cash outflows (Rs.) 20000 | 65000 | 40000 | 45000 |
According to above information, how much is lhe. opening cash balance for the month of April?
(1) Rs. 15000 (2) Rs. 10000 (3) Rs.5000 ‘
(4 Rs.(10000) (5) Rs.(5000) {0 ) |
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26. The following table shows types of employees and descriptions of them.
Employee types Descriptions
(i) Casual A - Work for an unlimited period
(ii) Contract B - Undergo a trial period
(iii) Permanent C- Work for a limited period
(iv) Probationary D - Work on a needed basis
(v) Temporary E - Work for a specific period
What is the option that correctly matches the descriptions in the order of employees types?
(1) A,D,E,B,C (2) A,E,C,B,D (3) D,E,A,B,C
(49) D,E,CB,A (5) E,D,C,A,B
(G
27. Select the correct indicator that reflects employees’ job satisfaction.
(1) Promotions (2) Termination (3) Dismissal
(4) Transfer (5) Absenteeism G0
28. Following are some characteristics relating to currency.
A — Tangibility B - Global acceptability
F —High risk D - Low divisibility
E — Intangibility C - Remote accessibility
G —Lowrisk H - High divisibility
Compared with physical currency, what is the option that matches only the characteristics of digital
currency?
(1) A,B,D,E,G (2) ACFGH (3) B:C.E.G;H
(4 B,D,E,GH (5) D,C,E,FG
-
29. The following table depicts some terms in financial statements and their calculation methods.
Terms Methods
(i) Net profit A - Net profit — income tax
(ii) Salesrevenue| B- Sales revenue — cost of sales
(iii) Profit for the _ Opening stock + purchases + inward carriage — (value of outward returns +
period closing stock)
(iv) Gross profit | D - Gross profit + operating income — operating expenses I
(v) Costofsales | E- Cash sales + credit sales — value of inward returns j
What is the option that correctly matches the calculation methods according to the order of terms?
(1) AD,CB,E (2) AE,D,B,C (3) D,E,A,B,C
(4) D,E,B,A,C (5) E,D,A,B,C
fnesie)
30. Which of the following is a source of primary data?
(1) Self-administered surveys ’
(2) Government agency reports
(3) Central Bank Reports
(4) Department of Census and Statistics reports
(5) Newspapers and magazines : finiod
_——A—‘-‘-J
SR,
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e Answer Question No, 31 10 40, by filling in the bintiks with o sultable word/words.

31, (a) Reduction of energy waste emphasizes ..................... sustainability whereas, equity emphasizes

..................... sustainability,

(b) Adhering to the stipulated minimum wago payment is un example for .....................
responsibility whereas paying more than the stipulated minimum wage is an example for
..................... responsibility of n business.

32. (a) Monetary palicy manages the money supply and ..................... while fiscal policy manages
the government spending and

(b) A tax charged on total sales revenue of a business is

..................... tax whereas, the amount
deducted by a bank from an individual's interest income is ..................... tax.

33. (2) A partnership agreement could be either in verbal, ..................... or implied forms and
according to the Parinership Act of 1890, in the absence of a partnership agreement, profits
should be .....................divided among the partners.

(b) A company limited by ..................... does not issue shares and its primary purpose will
not be making ..................... :

34. (a) A reduction in the list price of a product sold o CUStOMers is ..................... discounts whereas
the discounts given to debtors when making early payments is ..................... discounts.

(b) A firm that engages in buying and selling securities on behalf of investors is @ ..........o..eevnn...

company and such companies should be registered at the Securities and
Commission of Sri Lanka.

.....................

35. (a) Production process of manufacturing a large quantity of shirts is an example fora .....................

production and stitching a shirt for a customer order is an example for a ...............
production.
(b) Control charts techniques is used in .................. process control and regular group meetings
to discuss the issues of quality of products is an example for quality .............cccol .
36. (a) Computer-aided design (CAD) is used during the product .........cc..ccoeeenn stage whereas,
computer-aided manufacturing (CAM) is used during the product ..................... slage.
(b) Equipment and work stations which are arranged in a sequential order is ..................... layout
whereas, equipment and machines are brought to the place of production is ..................... layout.
37. (a) A company that uses a single brand for multiple products is an/a ..................... brand and
use of various brands for multiple products is known as an/a ..................... brand.
(b) Dividing a market into homogeneous groups is market ..................... and a percentage of an
industry’s total sales that is captured by a company is market .................. ;
" _ |
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3. (@) The option which allows the lessee o purchase the assels ol the end of the lease period jg

n
Known 85 ..., lease whereas the option which requires the lesee to return the

iod i ceeniense lEABSE,
ISR 0 the lessor at the end of leaso period is Known a8 e

(b) Interest ... ratio is used to measure the ability of a company [0 pay interest on
its outstanding debt whereas ASSOLS ..............vocerns TALIO is used to measure how efficiently

A company uses its assets to generate revenue,

39, (a) Skills required for employees on current job can be enhanced through ....ccoocceveenieens and

new skills required for future carcer of them can be enhanced through oo

(®) An association formed by employees to protect their rights is known as a trade ......covverninn.,

and the process of negotiating between employer and employee is known as a collective

40. (a) The cost which remains unchanged with the output is called S ..........c.......... cost and the
cost that changes with the output is called as ........... sisviever GOBL

(b) The processing of collected data all at once is called 88 ..ovvvvervrerernens processing and the

processing of data while receiving is called a5 ..oovcvvvvvveerinnne processing.

© Answer question No. 41-50, writing the suitable answers in the space provided.

41. Mention four reasons as to why entreprencurship is important for a country.

(3 ) Jororen G SRR T e s
B v R TS S R TP Sy

42, Write the correct promotion mix for the following examples.

Example Promotion mix
(1) Buy one get one free (BOGOF) 2 T T I 0 N, R
(2) A personal visit to a potential customer ] — s AR
(3) Sponsoring a cricket tournament - [
(4) A personalized email campaign L. s e s e

43. Indicate four benefits a manager can obtain by analysing the financial statements of a company.

32 - Business Studies (Marking Scheme) G.CE. (A/L) Examination - 2024 / Amendments to be Included.
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44, Name four contractual savings institutions in Sri

Lanka.

b L L R P Sy ot

R L T R Terdaasransnrann Bhvarany B
l“} N P ARy
e R N R R T (EETRET) SYRET
1 L R T T W
.;) B P
( LN o N RS TR R SR GaRa R N ' v
AtEd AR e s asbinsansy Ty

(4) L T A
B CEE TR
b T R R N R R L E L L L T T T

45. Write four beuefits an employee can obtain from an employee performance appraisal.

" [ ——

R T T R Sy

L TR TR Sy

(3) '""'""""""“"""““'\N‘-t"l-|--.--|‘.--|---ulnni.-t-lu-‘“qqcn-na.s--

(8 coiuninses A R TR i sna e 4 S N R A 5 SR o P R T S A S S P
46. Mention four key functions of a Computer-Based Information System (CBIS).

(L i AR R s B oA e Re— R R A R R S S S AT T

() s b PR s R A et fed P I N R

R S i DT e e e T e S BT S T TN

B oo semnmmianii cuses rigss R R N R i LT RC e
47. Indicate four agency activities of the Central Bank of Sri Lanka.

U] st o e R A B R A ST SNBSS A5 SN RS SR S e I R e

7. T T —— T ST S A

48. Write the full form of Information Technology related abbreviations given below.
(1) Al P T O s R R SRR, A

L E S TN P, S BB e e e
NI Sl e irmin i, o i o p e v bt s e o S et e i P

49. Name four key parties involved in a letter of credit (LC) used in intemational trade.

B ittt s R — — PR ot
) JUT Y S A B e T R4 S skl
) s I T —— A R i S
B i s R e

50. Indicate four key factors a lending organizations would consider in a business plan when
deciding to grant a loan,

Y vt R R AR RN R T R AR A A A GG s
| SRR, PRRE—— PR AR
RO s A T s ST YA AR PRI i TS B RN
(4) A R e R R L R N R R T

—_ - ——

32 - Business Studles (Marking Scheme) G.CE. (A/L) Examination - 2024 / Amendments to be included.

CS CamScanner



f)ﬂpaiimmi of Examinations $11 Lanks COHMEMM
o ) — i S P & oo PR e i . .-_\

. . o ———

i

Department of [ xaminations

G.C.E.(A/L) Examination - 2024

R ——

Subject code 32 J Sebjeet r

BUSINESS STUDIES

Marking Scheme
Paper |
Question Answer number Question Answer pumber Question Answer number
o pumber number
m o —
2
3____" " 5 3
o2 2 P—— l
Rt 173 5 R o8,
03. 4 ; :
13, — 2. S
04, i : ¥
05, 3 " e
P - =
08. 4 " et .
v 6. 26, R
07. SEmaaae
4-—-—-——-.—- ﬂ. 2 2_" 5
2 1 b ——
Sk gl 18 28, L
o9, 4 i o
R B - 3 ol
10
_——— - 34 " :
O Special Instructions
02 Marks per answe

32.smmmmu'rq&l-mnmu.uﬂ.}uwwmm-zozq fmll*ntsmbcindm I8

P |

CamScanner




———

32 - Business Studies (Marking Scheme) G.C.E. (A/L) Examination - 2024 / Amendments to be Included.

Department of Examinations - Sri Lanka

e Question no. 31 to 50, Y2

Confidential

31.a) Environmental, Social
b} Legal, Ethical

32. a) Interest rate, Tax/ tax and non
b) Turnover, Withholding

33. a) Written, Equally
b) gt@rar&tee, Profits

34. a) Trade, Cash

'—*PWMXON‘ :

b) Share brokering/ Brokering, Exchange

35. a) Batch/ Assembly line, Job/ Order based
b) Statistical, Circles

36. a) Designing, Production/Manufacturing
b) Product, Fixed position/ Fixed

37. a) Family, Individual/ Personal/ Product
b) Segmentation, Share

38. a) Financial, Operating
b) Coverage, Turnover

39. a) Training, Development
b) Union, Bargaining E

40. a) Fixed, Variable

b) Batch, Real-time

41,

1. Contributing development and growth of the economy
2. Utilizing regional resources

3. Increasing the standard of living

4. Earning of foreign currency

5. Developing Innovations and technology

6. Creating employment opportunities.

7.Developing / Encouraging social system development

mark will be given for each answer.

-tax (The word tax compulsory) or Government

13

4
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42,

A —Sales Promotion
B — Personal selling
C — Public Relatlons

D - Direct marketing

43.

45,

46.

1. To know whether expected goals were achieved or not
2. To measure the success of the business

3. To compare operation performance and development
4. To identify future development opportunities

5. Risk management

6. To compare competitive advantages

7. To the financial management

8. To manage resources

1. Insurance companies

2. Employee provident fund / (EPF)

3. Employee trust fund / (ETF)

4. Government service provident fund

5. Approved pension and provident fund

1. To comprehend own competencies/ skills

2. To receive financial and non-financial benefits
3. Being qualified to be promoted

4. Training opportunities

5. To receive service satisfaction

1. Data collection

2. Data proces‘s_ing

3. Data storage

4. Information distribution

5. @ given decisions

6. Data analytics _

7. To control the performance of the system

Co nfi d entiaﬂ
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47,

48.

49,

50.

1. Management of government debt

2. Foreign exchange control

3. Functioning as a primary institution for small-scale, micro-scale financing
4. Management of e ployees ldent fund (EPF)

3 r:”\f,i"\o { j&%@ Sc)y‘ulc‘"

1Al - Artificial intelligence

2. WWW - World Wide Web ,
3.LAN - Local Area Network \
4, VOIP - Voice Over Internet Protocol

1. Importer

2. Importer's bank

3. Exporter

4. Exporter's Bank

1. Project cost / Business cost

2. Potential profit / Future profit
3. Method of cash flows

4. Ability to repay the loan

5. Collateral requirement

6. Business strategies

32 - Business Studles (Marking Scheme) G.C.E.
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Question 01 .

Lo Amanda is an owner-manager of o fust food outlet, She sells healthy organic food while
aceepting orders vin online, However, the sales volume of organic food has declined due
to the country's economle instabllity, competition from foreign franchises and the legal
restrictions on the use of plastic containers. Consequently, she decided to layoff some
of her employees,

(i) (@ What is the production sector Amanda's business belong to? Give a reason

for your mnswer. (02 marks)
Service sector (01 mark)
Reason

Providing hospitality services through Selling foods (01 mark)

(b) State two advantages and two disadvantages of Amanda being an owner-manager

of the business, 2 marks)

(0
Advantages J’h/}
Can start casily 9. fras aa Cadi
Can enjoy all profits
Independent decision making
Fewer rules and regulations
Direct relationship with customers
Safety of confidential business u:!onnahon
7 Lot Gm«j Jo  Win e (% mark X2 = 01 mark)
Disadvantages
1. Difficulties in collecting capital
2. Individual decisions may not correct always | [ i}j
3. Bearing losses alone ; ‘”'.e’q PC“““ :

4. Ma uguntnl dlfﬁcul d the complex role
5- unlimi eor

N havin Sk s ek
ﬁn Wb)u) (n) nmc two Lﬁarahr\{.{imofatmm&ﬁe Fmes)su 4 sd CCe 5_51011 i

(02 marks)
Conducting the business via online
2. Healthy foods
3. The owner acts as the manager of the business

N T

(0Imark X2 = 02 marks)
growth of the
(02 marks)

(b) State four ways that Amanda's business can contribute to the
cconomy.

Contributing to Gross Domestic Production (GDP)

Employment opportunities

Contributing towards innovations

Paying taxes

Contributing to environmental protection

6,  Contributing to create n healthy community

b b o oo

(%2 mark x4 = 02 mark)

e e ‘
22 - Iusiness Studles (Marking Schome) QI (A/L) Examination = 2024/ Amendments to be Included 16
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(i) (@ Considering the case, write two 1as

K environmental
environmental forces that influence s S e e

Amanda’s business, W7 1warss)

Close /Task/ Immediate environment factors
1. Suppliers

2. Customers (Consumers)
3. Competitors (Vs miark 72 = 0 mark)
Macro/environmental factors
1. Legal environment
2. Economic environment

3. Technological environment

(7 m.dﬂZ:ﬂkaz)

(iv) () According to the Food (labelling and adventising) Regulation of 2005 i %y
Lanka, name four mandatory information that should be sizted on food

(% mark 2 =01 mark)
(b) Indicate two social responsibilities fo be fulfilled by Aumdaa bsiness 1o

the society. (02 setis)
1. Creating employment opportunities
2. Waste management
3. Creating green products J E, 1
4. Community service i N gy na
2. Working environmentally friendly manner ( ipﬁj ﬁ? } j

Nen aucidente of pyme

packages. (12 marcs)
1. Stating ingredients clearly
2. Production batch number
3. Date of expired
4. Date of manufacturing
5. Weight or volume
6. Manufacturer's name and address
7. Country of origin
8. Storing instructions
(% mark 74 = 2 nwn‘;s)
(b) Indicate two reasons as to why foreign fast feod franchises showld be
considered pompemors to Amandz’s business. (2 medes)
1. : similar goods

2. Entering the same target market
3. Acquiring a part of the target market

(01 mark 2 = 02 murks)
(v) (a) Describe the impact of layoff for existing employess of this business. (92 woads
1. Lack of employee motivation
2. Reducmgdxdedmanon ofﬂleemplﬂyees
3. - ance g s orods
3. 4 Bemgfrustratedtheensungempk))ees F
4> 5. Increasing risk in job secunty
% 6. Inmmsmpﬂ:ejobmsofempln)aesduewmmﬁngﬁ:e?rmm
k-7 Causcmemployeemrmverandemployeemm
Mentioning 01 point - 91 mark
Ex?’“’;,m - 01 mark
2P ) |
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wespyis fhe lot osles (07 fivarks)
Nk O I LT T L e
() Supeest twe abplegles A (Fonad 30 morks)

e _— it {4

Lo Cabdog st b sell Bl qooality jores cda s '

2 Uha El:ua! l: fvwet pudee dnthes i camnpetittns andd providing higher service
Lo Witen Ik trde proinetions .

1 Povising on selling products with Peo-friendly packages

4 Obtalning the service of specialized and polite cfrlpltnyccs ‘

A Designing o working environment and surroundings to provide a greater
value 1o the customer ) .

6. Making clmnsn in the food menu (menu engincering)

‘J‘ ‘,Uh«]ﬁhu fon ”f\wtﬁg}u r,,'ch e 4

. ; (01 mdrk » 2 = 02 marks)
- wher, -. 2
5%114 pmmab_sﬂ\ ,

Question 02

2. The legal advisor of Kalana and Akbar advised them to register their agri-business as
a partnership. Recently, they reccived an order for value added tea. For the completion
of this order, an additional investment of Rs. 5 million is required for which they are
considering the following options:

e admitling a new partner
¢ forming a private limited company
e obtaining a bank loan

(i) () Write four benefits Kalana and Akbar can enjoy by forming their business

as a pannership. (02 marks)

Easy to commence

Easy dissolution
Can collect more capital
Ability to utilize different skills of other partners
Ability 1o share the liability
Increasing enthusiasm due to the collective liability
¢ Co]:i:sgljib"c Cisiorn- Mi’;ﬂg, : (Y2 mark x4 = 02 marks)
) Indicate two advantages Kalana and Akbar can obtain by registering their

business as a partnership under the Business Names Ordinance, No. 06 of
1918 in Sri Lanka. (02 marks)

B - I

Ensuring the legal ownership of the business
Receiving recognition for the business

Easy to obtain loans

Ability to get the consumers’ trust

Ability to resolve conflicts

Easy to convert into a company

DwawN-

! (01 markx2 = g2 marks)

"
T e e

’ “ Pusiness Sudies (Marking Scherme) GLE (A/L) Examination - 7024
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(i) (a) If the

businessimen and consumers?

st of production of agri-products Increnses, how does it impact the

(02 marks)

T ‘ i ’

I'o the lz!lallngag[n!m 3 1o the Consumer t
1. Increasing the cost of inputs 1. Increasing the purchasing cost k
2. Decreasing smlcg 2. Decreasing living standard E
3. Decreasing profits 3.

Needs to find alternative products

(Y2 mark %2 = 01 mark) (Y2 mark X2 = 01 mark) f

(b) Indicate
partnersh

e ]

the main criterin to be followed in admitting a new partner for a
ip in the absence of n partnership deed. (02 marks)

t requires the consent of all partners (Should be a collective decision)

* Entering into the agreement related to sharing profits, introducing capital,
and the information about liability

(02 marks)
(iii) (a) State two ways Kalana and Akbar can add value to tea. (02 marks)
1. Taking steps to sell packeted tea
2. Increasing the quality of the products
3. Environmental friendly services
4., Market innovation (Tea toffees/ tea tablets)
5. Introducing special varieties (Flavoured, Taste)

(b) Write two services Kalana and Akbar can obtain from Sri Lanka Export
Devélopment Board (EDB) 1o promote their agri-products in international

markel. (02 marks)
1. Sponsoring trade exhibitions
2. Providing export marketing facilitics
3. Advocacy services
4. Introducing new markets
5. Technological services (01 mark X2 = 02 marks)
(iv) (@ Explain four key ways ihat differentiate a partnership from a private limited
(02 marks)

company.

1. Bstablishment 6. Legal requirements
2. Legality / legal personality % Tax payments
3. Capital introduction 8. Decision making .
4, Ownership 9, Continuity / Perpetual Succession
5.  Management 10, Liability
(Name and describe % mark X4 = 02 marks)
(Only naming 4 factors I mark)
_*‘quﬁa‘I}‘nﬁ;{m{ﬁ; I::;;n}‘l; llvl{mli;lai;:l—l:;n 2024 4 Ammu\nmnls to bt fncluded. 19

(01 mark X2 = 02 marks)
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(b) State four limitations of a private limited company. (02 Mares
Limited capital due to the limited number t{f shareholders

Inability to issue shares to the general public

Restrictions in debt capital

The complex procedure of the establishment

Restrictions on transferring shares

Can't be acted as a listed company

Dual Taxation

The complex procedure of the dissolution

g,

CONS AW -

(Y2 mark » 4 = 02 marks;

(v)  Write two advantages and two disadvantages 1o this business by obtaining 2 long-

term bank loan, (04 smarks)
Advantages
1. A specific interest has to be paid
2. Ability to pay installments through the earnings
3. Relatively low interest is applicable
4. Having an agreement on re-payment time
5. Less financial risk
6. Increasing the real value of money
7.  Can collect large amounts of funds

(01 mark »2 = 02 marks)

Disadvantages

1. Need of collaterals / Securities
2. High cost of obtaining loans
3. Being a long-term liability
4. Ownership being uncertain
5. Providing loans only for a specific purpose
6. Interest cost is high
(01 mark %2 = 02 marks)
Total = 20 marks
H
Question 03 : v / Compy /5_
3. (i) (a) What is "social entrepreneurship? J {Ol’rr?rks)

Engaging in innovations to solve social, environmental and cultural problems with

intention of social service. ———
Benefits such as mental satisfaction, acceptance, praise, mutual health are expected
through this,
(02 marks)
(b) Write four challenges of social entreprencurship. (02 marks)
1, Difficulties in hiring skillful employees
2. The balance between social and financial goals
3, Issues of obtaining finance for business projects (Investments)
4, Risk of expansion of the business
5, Competition with traditional businesses

(%2 mark x 4 = 02 marks)

32 - Business Studies (Marking Scheme) G.CH, (A/L) Examination - 2024 / Amendments 1o be included 2;!
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i e

in! Descrihe twa differences between #a enfreprefewr snd 4 Busiatasian m} marks)

(i)
Entreprenent Businecaman
I Commences & Pusiness with his [ 1. Commences a business with an exieting idea
o e of new concepl 0F COTee
2 The Budiness opponente of (he 2. Nas othet buciness opponents
entreprencut 1€ himeelf
3 The entreprencor prepares himeelf |1 The busineseman is alw aye engaged in his
for new butiness opportunities businees activities
4 & an innovator 4. Traditionalist
5, Paces nisks 5. Engaged in activities protectively
6. When problems arise, face them |6, Gets discouraged when faced with
courageously 1o overcome them difficulties |
= 02 marks)
Olpe ,  Mmtri=2l
ih) Stute fonr advantages a customer can obtain thiough digital payment
methads, ! (7] mvarks)
1. Speedy payments ( Save Jimg 4 taone
2. Low cost } '
3. Global paymen( method
4.  Rewards and Discounts
5. 7/24 basis
6. Ability to obtain recordings
7. PFlexibility
8.  Safety of money due to not having physical relationships
(Vs mark < 4 = 02 marks)
(ii1) fa) Explain four ways that differentiate large scale enterprises from Micro, Small
and Mediom scale (MSM) enterprises. (02 marka)
1. Limited sources of capital
2. Less technological and infrastructure facilities
3. Less legal restrictions
4. Different methods of making decisions (Flexible decision-makiag)
5. Increasing employee mlatmnshjps " \
6. Less market shares ( N« hr'\j enauy
v
7. Comparatively a smaller number of employees
8. Less financials bonds i (%2 mark x 4 = 02 marks)
) State four reasons that cause Micro, Small and Medium (MSM) scale
enerprises 0 fail in Sri Lanka. (€2 marks)
1. Market problems
2. Technological problems
3. Financial problems
4,  Employee issues
5. Infrastructure problems )
f;. ;:;:mly conflict regarding business m:uera . on cinets P ]v\ ;
. anagement issues  { Ne
(% mark X4 = 02 marks)
Tt Wusiness s (Marking Schern) GCE (ML) Exoastion - 2024 [ Amenducuis be lockided g1
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: j o ; , , g erdrafts (07 rins
(V) i Diescribe the difference between ‘mortgage loans’ and bk overde ‘ marky)

Moitgage Loans - individual ar b
1s a long-tetm loan provided by a financial institution fo s;n individual o bue oo

4 ’ Oower a 9 * Piom
secured againet immovable property like real estate. The borrower agrees (v repq,,

the loan in regular installments over a ﬁ|miiij{rrifj’_ﬁml tf"f'[;’yaf'? ¥ 1ess interey
is applicable, ¥ P e
() »
Bank Overdiaft .
A short-tetm credit facility that allows 71-;""“" account holder ta issue cheque . £,
A

a specific amount of money taatal TVai 1 in their bank account with the approy g
of the bank and comparatively high interest is applicable.

v

(For the complete answer with 02 points — 02 marky;

Or
Mongage Loans Bank Overdraft
1. No need to have a current account 1. A Current account is compulsory
2. Long-term 2. Short-term
3. It can be given by any financial 3. Only Commercial banks . i
institution
4. Comparatively low interest 4. Comparatively high interest
5. Interest to be paid for the full amount | 5. Interest is applicable only for the
of the loan used amount
6. Purchased properties and assets have | 6.Collateral is not compulsory
1o be obliged as collaterals

(For the complete answer with 02 points — 02 marks)

(b) Indicate two benefits a businessman can obtain by purchasing treasury bills (02 marks)
1. Confirmation of paying the total amount and the relevgnt interess by the

L.
- CCH"M ggsrr:ﬁ:l}nvcsuncnl /_GJJ‘J‘*‘J' IC-"J h'd :

2.
3. Ability to sell a secondary market
4. High Liquidity
5. Receiving interest at the moment of purchasing o4 !
v (o he wsed as o (o] |a(0f mark % 2 = 02 marks)
(v) (&) Write two purposes of maintaining records in counter !‘-aésaof chegues. (02 marks)

1. Ability to get information about the ones (paysi&, amount, date)

2. Acts as legal proof o
3.  BEase of bank reconciliation activities
4. To fulfill the tax and legal requirements
5,  Reduces fraud and errors
(01 mark %2 = 02 marks’
e ce————————————— T o e e N
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(b What is. meant by ‘micro-financing'?

(02 marks)

Micro- ing i i
cro-financing is the provision of small loans, savings, and other financial

services (o i 3 ] i i i
i ;:cw klo .tndivrdunlb ore-mmi businesses typically in low-income communitics
Ack access to traditiohidl banking services. ‘

(02 marks)
Lotal = 20 marks
Question 04

4. (i) (@) Name two beneficiaries of a life Insurance.
1. Insured/ Insuree
2. . Nominated beneficiaries

(02 marks)

(01 mark %2 = 02 marks)

(b) State two benefits an exporter can obtain through Export Credit Insurance. (02 marks)
Introducing insurance policies on not receiving and delay of money due to

1.
y M commercial and non-commercial reasons
Cf? j ]\ 4/ < 2. Providing guarantees to banks and financial institutes as receiving financial
3

facilities for exporters in pre-shipments and post-shipments
Provide information about foreign customers

(01 mark X2 = 02 marks)

(ii) (a) Mention four adyaniages of social media to a business organization. (02 marks)
Brand promotion
Ability to address a wide customer base
Cost-effectiveness
Market expansion
Convenience for market research
. Easy to attract employees
Introducing new products
focus on target promotions

R s i e

(%2 mark X4 = 02 marks)

(b) State four disadvantages of signs and symbols used in communication. (02 marks)

1. There will be problems in exchanging information where the recipient
- suffers from a sight impairment.
2. If signs and symbols get distorted over time, miscommunication can occur
3. It can be difficult to understand some signs and symbols g
4, The need for knowledge of signs and symbols before they are understood |
(%2 mark X4 = 02 marks)

W W \x“h [
' w ¥ o)
(iii) (a) What is meant by 'free trade’? W ho . (02 marks)
Conducting trading activities without having tax and non-tax barriers
— - (02 marks)
T ded
32 - Business Studies (Marking Scheme) G.CE. (A/L) Examination - 2024 / Amendments to be inclu 23
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. (»AQ“”"J ‘( = ~61 stk
(iv) (@ State two differences between 'cl"’ sl dlhmku # fq 3

N

A

LC

h sport” wi n G.‘Xﬂll‘i].)'C. (02 me )
3 i 3 .‘ ll‘l\lli‘l‘l It W "h i g
b E» p]““‘. the term ‘multi-modal . ‘ | S ark

DOT » distributor.
assengers by one transporter or One - _ ——
l(Tl“rmlx‘:?cu'ml'i)t,m which is done by integrating roads, rai W;:J’ 8 *:1:'“’"}’ g ) f'md
§ j _ o :
walerways by one transporter) EnNp &

(for a complete answer (2 marks)

i An (J?\t-fr
LY oy ™ \(&"JE er' a J “}'
o) E@}ﬂ Y g Diltributor

L. Selling goods to the consumer with | 1. Purchasing goods and selling them to
the authority of the head
(No having an ownership of

goods) -
2. Receiving a commission 2. Receiving 1‘)mﬁls
3. No risk involvement 3. Bearing arisk

wholesalers, retailers and consumers
(Having an ownership of goods)

(01 mark X2 = 02 marks)

; i
(b) Explain with an_example how do tarift barriers (TB) differ from non-tariff

barriers (NTB).

Tariff Barriers are taxes or duties im

« (02 marks)

|
- i
posed by a government on imported or L

exported goods. 3

Ex: Vehicles import tax, Rice import tax ol Y"V"/ l ﬂ( JA‘“ i
J5C 'i

Non- N

on-tariff barriers ‘are access but use financial and non
like quotas, licenses, embargoes,

goods.

Ex: Licence fee for imported vehicles
Limitations on rice (Quantity, Dates)

(v} (a) Indicate four reasons why wholesale trade is important to a

8
2
3

Hignien

(b) Explain four advantages of online trade for a businessman.

kot O ol

-financial limitations |
or standards to control the quanti ly or type of

o ek S GM.-'W'(\

(01 markx2 = 02 marks) |

producer? (02 marks)
Purchasing the products of the producer in bulk/lots / batches

Providing information about the market

Providing various services to the producer (Financial f: acilities,
raw materials)

Make the production activities comfortable

Minimizing the effort of distribution and sellin g

Less risk for the producer

Displaying the production due to locating warehouses in several places

obtaining

(Y2 mark x4 = (2 marks)

(02 marks)
Convenience in buying and sellin g

Less stock maintenance cost
Ability to provide facilities for m
24-hour global service

Less employee cost

Less financial risk

Quick responses to customers

any consumers

(%2 mark x 4 = 02 marks)
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Total = 20 marks
l’
!!uestion 05 art i

§.

Ridma established a toy manufacturing factory that uses recycled materials and implements
a cellular production layout. She applies diverse employee motivational methods and
gets employee involvement in decision making. Moreover, she adopts the methodology
of early correction before problems oceur in the production process. Her management is
characterized by self~confidence, industry expertise and collaboration with the workforce.

(i) (@ Mention two managerial skills Ridma possesses. (02 marks)

1. Conceptual skills
2.  Human skills / Interpersonal skills

3. Technical skills (0102 = marks)
(b) Based on the behaviour, name the leadership style Ridma adopts considering
the case. Give a reason for your answer, (02 marks)
Employee-oriented leadership style (1 x01 = 01 mark)
Reasons —

1. Utilization of employees for decision-making
2. Using different motivational methods
(1 x01 = 01 mark)

(i) (a) State the controlling technique Ridma uses in the production process. (02 marks)

A feed-forward control (02 mark)

(b) Describe two elements that should contain in the toys products for children to

ensure quality. (02 marks)
1. Non-toxic
2. Accordance with standards (Durability/ Safety)
3. Helps childhood development
4. Producing toys according to the age of the children
5. Proper functioning

(Naming 02 elements % X 02 =01 mark)
(Explaining 02 elements % % 02 =01 mark)

(iii) Name two financial and two non-financial motivational methods Ridma can

apply. (04 marks)
Financial Motivations

1. Remuneration (Salary and wages)

2. Bonus

3, Other allowances ( ANendunte q .wq "Cuu o2 F@n’\)

4. Providing company products with concessionary prices

5. Loan facilities

(01X 02 = 02 marks)
____ms, Studies (Marking Scheme) G.C.E. (A/L) Examination - 2024 / Amendments to be included. 25
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Non-financial Motivations

1. Employee training
Giving promotions
Providing job security
Providing a conducive environment and supply
Providing housing and recreational facilities
Appreciation of performances

.QOO-JC\E.A:&-[-HP

Emploi;u fE(mcrmcnt (30

(iv) @ Dcwcnbc two metl
1. Using sophisticated technological equipment
2. Using non-broken machines

ing new equipment

Confidentj,)

Awarding 1’) o LL\J ¥ D (01 X 02 = 02 marks)

hods the factory can use 10 enhance machine productivity. (02 marks)

3. Maintaining machines properly (01X02 = 02 marks)

(b) Explain two advantages Ridma can obtain by using recycled materials in

toy manufacturing.
1. Minimization of cost

2. Increasing profit

3. Reducing carbon footprint

4. Social recognition (Through Social responsibilities)
5. Introducing new products

6. Receiving government patronage

7. Reduction of waste

(02 marks)

(Explaining 2 advantages 1 % 02 = 02 marks)

(v) (a) What is a ‘cellular layout™?

(02 marks)

Preparing layout by fixing similar and scalene machinery in separate cells to flow
the functions of production in the production process is known as cellular layout

(02 marks for a complete answer)

(b) Write an advantage and a disadvantage of the cellular layout.

(02 marks)

Advantages
1. Reducing material handling cost
2. Reducing lead time
3. Easy communication
4. Minimizing work in progress
5. Increasing the quality of the product
6., Growth in productivity :
7, Carrying out activities according to the production schedules.
8.

Reducing machine idle time and reducing employee idle time

(01 x Q1= 01 mark)

32 - Buslness Studies (Marking Scheme) G.C.E. (A/L) Examination - 2024 / Amendments to be included.
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Disadvantages
1. High initial cost

2. Requirement of multi-skill employees
X 3. High employee stress ' ’ Jv( JL
4. Bottlenecks in production activities. (0})536\6 {C“ P pﬂf»‘f:;}: e
(01 » 1= 0] mark)

Question 06

6. ABC Automobile (Pvt) Ltd Company produces and sells luxury branded cars targeting
high-profile and wealthy individuals. The company uses JIT inventory control method
and conducts market research for products which are at the growth stage of the
product life cycle. The promotional media used by the company arc mainly Facebook,
YouTube, Instagram and TikTok. The company sells a car at a price of Rs. 10066 656
and variable cost is Rs. 3500000. Fixed costs is Rs. 65000000.

(i) (a) What is meant by the ‘JIT method’? (02 marks)

The method of obtaining materials for production at the required time in the correct
quantity and delivering the output to the market immediately is known as JIT

methods
(02 marks)

(02 mesks)

(b) Describe fwo advantages of using JIT method in the inventory control.

Increasing profit due to decreasing cost

Having efficient supply chain management
Minimizing storing cost

Improvement of working capital due to less stock cost
Increasing output

Being a demand #22 Fﬂ’prodncrion

Increasing cash flows

S B

.

S o

(Explaining 02 facts = 01 X 2 = 02 marks)

(ii) (a) Define ‘target market’. {02 marks)
Focusing on a specific consumer group from the total market by a producer to sell
the product or introducing his product to the selected consumer group itself can be

stated as target market (02 marks)

(b) Briefly describe the importance of conducting market research for the above
(62 marks)

m .
c;'opu?;crstand the success of the own product, how it can be successful in the existing
market in relation to the market share and product development Avith comparison to

the competitors Maikel dove kprmens -
(02 marks)
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| |
A e
y the market and give .
(i) (@) Name the base the above company adopted to segment the g (02 masks) :
a reason for your answer.
(01 mark)

Psychological basis

Reason - Aiming people with high social status (01 mark,)

(b) Write four benefits the company can obtain through market SgRRman. s mis)

1. Since the entire market is subjected to analysis, much awareness regarding the
market can be gained.

2. Ability to recognize the appropriate and periodic market

3. Ability to utilize the limited resourcing available in the firm efficiently and
effectively

4. The firm can minimize the market risk

5.  Ability to launch marketing programs more successfully.

(%2 X 04 = 02 marks)

refers to. (02 marks)

| P 2
Social Media methodf ) soeJ\/f me din ”""‘rk")’j/f (02 marks)

i
|
(iv) (a) Name the market promotion method Facebook, YouTube, Instagram and TikTok i‘
]

1
i (b) Write two characteristics that can be observed at the growth stage of a [
i product life cycle. (02 marks) |
E
|

1. Increasing sales

2. High profit margin
L 3. Increasing competition !
4. Wide distribution :'
5. Increasing customer base

6. Expansion of market/ new markets
7. Increasing marketing expenses

Vs

(1 % 02 = 02 marks)

units and rupees of this com

; (v) (a) What is the break-even point } (02 marks)
| e 10 units ﬁegp - 65000000 (Olmark)
! vn e T =
] ' . e Rs.100000000 - (le,oeep oo —35 GUOoa Odmark
I ﬂG;P'h“'V{L;f&l’D}JOO 66\0 . £ 55' 0& M-— 'O ( )
=1 (b) If the company sold 15 units of cars; ~
(02 marks)

Rs.32500000

(Total 20 marks)
‘Q},\ (02 marks)

R
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Question 07

R = i e i

T (i) (@) Define the Qliquidity ratio', (07 marks)

A Liquidity ratio shows the ability of the business to meet the short-term honds/
liabilities or to identify short-term insolvency.

(02 marks)
(b) Explain two benefits of liquidity ratio for a business. (02 marks)
1. To identify the short-term insolvency of the business
2. To identify the liquidity
3. To identify the financial issues
4. To manage assets and liabilitics
5. To determine financial strength (01 %02 = 02 marks)
(i) (@ lndicate Tour benefits of preparing a cash budget for a business. (02 marks)
é} 1. Ability to make effective cash investments if any future cash excess can be
' identified in advance and oy h'\ surplus -
2. Ability to prepare for possible cash ShOl‘ldch succcqsf ully if any future p B{
b shortages canbelde tified in advance 2 s § et 67
. Facilitating piﬁamn and of cash by comparing it wjth actoal cash
transactions "/uuﬁ Eﬁr PITIES Q[n "f, j
4, Assisting in couﬂrmmg the future financial conditions of the bu%mcss when
obtmmng business loans. l_
7 GGt e
‘r' A Y,jf Loy Léans (% X 04 = 02 marks)

‘ﬁ;h nieme ..
(b) What is mter—bank ca]l money market’ 01"‘ the Central Bank of Sri Lanka? (02 marks)

The market where the short-term loan demand and short-term loan supplies take
place among commercial banks is known as the interbank call money market.

(02 marks)

(iii) (a) Describe the impact of excess employees for a company. (02 marks)

y) © Increasing cost

,) ¢ Increasing employee idle time

) Demotivating employees l _ A J), y
&))- Reducing total-preduetien €M p (oY ee  PYOOU Coa v,

5) e arising of financial problems
), * Increasing employee absenteeism/turnover
(Explaining answer including at least two facts stated above 01 x 2 = (2 marks)

(b) Write two methods & company can use to identify employee grievances.
1. Exit interview
2. Suggestion box
3, Aitude survey
4, Open-door policy lg i M uJ_; mo, A~

5. )QPL’W;W. @ je 4 (01 X 02 = 02 marks)

P>
- SO b Gy I‘WV’KEG‘J /?ah’lfnzjg/ﬁjg___ﬁ_
; ed
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(iv) (a) State four disciplinary actions an employer can take against employees. (02 marks)

Reprimand/ verbal warning

Written warnings

Fines or recharging the loss f
Suspension of the job temporary { D155 § j §
Transferring from the job

Holding of salary increments or making it delaying
% Demotion from the post , .

“f. Termination from the job

oYW -

(1/2 X 04 = 02 marks)

(b) Write four benefits a member is entitled to obtain from the Employee Trust
Fund (ETF). (02 marks)

1. Eligibility for death benefits

2. To obtain loans
3. Scholarships for grade 5 students ‘/j £ }J‘f,
- * C’ ) }
‘4. Reimbursement of expenses on eye lenses / Me l‘-' i« F\ ) )
5. Insurance facilities for permanent disabilities
'6. Financial support for advanced-level students for vocational education
7 B ot s fort :
| 8 Fi e forldd ]
i ‘ . \ - (%% 04 = 02 marks)
(v) (a) What is ‘performance appraisal’? (02 marks)
The process of supervising and reporting to what extent the relevant dutu-:s are \f/,]_
performed successfully by the employee, M ﬂ*‘j a 5 rf’ﬁ :
( 02 marks) |

i1

(b) Describe two advantages a business can obtain by maintaining a “skill inventory®, (02 marks)
(Total 20 marks)
Identification of skills gap
Ability to recognize training and development opportunities
Ability to understand the competencies of existing employees
To maintain a skillful workforce continuously
Ability to identify the succession. { ¢
To use when promoting employees
(Explaining 2 facts 1 x 02 = 02 marks)

e SN e L3Rl s
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8. () (a) Mention four ways in which data can be presented.
1. Pictorial data '
2. Numerical data
3. Audio data
4. Visual data

(02 marks)

(% % 04=02 marks)

(b) Name four characteristics of good information. (02 marks)
Descriptive
Flexible

Readily available
Comparable
Understandable
Reliable
Accuracy

Timely

. Cost-effectiveness
10. Completeness

11. Relevancy

O NN R W

(%% 04 = 02 marks)

(i) (a) Describe two benefits an organization can obtain by using information
technology. (02 marks) .

e Speed
%%' O BI;( obtaining even the complex things at a high speed and by classifying

them, they could be reused.

'z,) ) : c i ; |
That the chances of making any mistakes by individuals are high. However !
since the number of people that participate in electronic information ]
operations systems is less, the chances for making any mistake are very low. !
Ability to use for various functions exquisitely and ability to make any
changes according to the relevant function.

e Reliability
4) It is something that is created by accuracy. Improved quality This means,
the affairs conducted using this technological information also contain high

quality. : .

's’) e Management of large quantity of information
While a large amount of information could be obtained using technology,
there is the ability to manage them to make decisions using that information

as required.
b /o Less Employment .

Employees are being minimized because of using technological equipment

. (A/L) Examination - 2024 / Amend -
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9 e Less Space
Being sulficient for the usage of technological equipment.

h "o Low Cost
There is the ability to minimize the cost by being thrift because of the abeye
factors.
(Naming facts % 7 2= 01 mark,
(Explaining facts % 7 2= 01 mark)

() Lxplain ‘File Transfer Protocol’ (FTP). (02 marks)

v Standard communication protocol used to transfer computer files from a server 1,
the client's mmpulcr using nclwor’k

’”‘5 a{lews COJI}YJ Lv‘ # ef J/(( My '"‘g)"*f :

nt
du u W arif“c he éxpfx%do 'Me luichxr (] gmde}v

\ 041(. v J "
‘(:(CLB&J\‘#]W . mﬁb«\lrﬂ”‘?ﬁé‘ ‘{Gﬁmﬂnﬂ%’"m ”u’"ra’:;j

(i) ta) State the key difference between proprietary software and open-source soﬂu.arc (02 marks)

A

d 5 f > Proprictary software is developed by a company or individual and can be used after !
( .LJ’) payment. This software cannot be changed by the user. x
er?® - R (01 mark) |

D
A Open-source software is available without payment and users can improve and

(/9
@ U“) :’l& further develop.
(% -

(0] mark)

(b) What is a ‘computer virus’? k \}‘}' (02 marks)

A computer virus is a type of malicious software designed to replicate itself and
spread from one computer to another. It typically attaches itself to legitmate
programs or files and activates when the infected program or file is opened or
executed

(02 marks)
(iv) (a) State four information that should be presented in the Competitive Analysis
of marketing plan. (02 marks)
1. Existing competition
2. Competition and their strengths

3. Entrepreneur’s strengths and weaknesses o face the competition. .'"

4. Barriers 1o accessing the market such as cost time, technology, and patent
rights. *
(% X 4 = 02 marks) E

(b) Explain why the business plan is needed 1o an organization, ' (02 marks)

1. The business plaﬂ depicts where the business should go in the future
(explaining its mission, goals, and objectives)
2. It gives a comprehension of the business o the interested parties.

e e —— T ————— __-—'—”‘
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oSt
Lp 3 To nlclmf the required resources for the business and to maneuver lhc
easily.
- 4. Ability to organize future business activities in order and well through the
deportation of everything suitably. :
j Useful for evaluating the performance of the business -
6.
A

Assist in attracting employees for the positions of the business.

b
.1
< Easy to regulate and control.

T i S B

(Explaining answer including about 02 facts 1 % 2 =02 marks)

e

Lareem 3 E

(V) (@) What is ‘working capital'? Write two reasons as to why it is essential for
a business. (02 marks)
The funds a company uses to manage its day-to-day operations / Money required to
maintain day-to-day business activities is known as working capital.
(01 mark)
Reasons:
To maintain daily activities without interruptions.
To use fixed assets
To implement plans successfully
To protect business goodwill
To reduce risk

Sy LRy

(% % 2= 01 marks)

(b) Write two benefits a business can enjoy by obminir;g an Environment Protection -
Licence (BPL) from the Central Environmental Authority in Sri Lanka. (02 marks)
J Total 20| mapks) l\ L“
l) LLJ «{ v ]&C/}m d ‘*}Vﬁfm ()4& em r&«mf fﬂ U,
. Minimizing impact on the environment through clmssmns tmg A ’

Eco—ﬁncnd.ly approachcs

ngai‘p?ﬁtﬁﬂjﬂﬂform&oam&n&alms
5’ Able to comrtc with the international market by producing green products l

Al” b ¢ ]d he az_oz
‘z- /fo CM’\J'Y3 }Q(H_Q_ er\c\hronmh / l. r

-~
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